AERE

et FERFZ

114# &
~E R L ER v CGF)
7 H (S S R S £%F % P
(D (2) (3)=(1)-(2) (4)=(3)/(2)*100
S
)E —ﬁ[ﬁﬂi » 3,600, 000 3,600, 000 0. 00%
KE —ﬁff’%‘i’f. » =t 6,000, 000 6,000, 000 0. 00%
_ .gﬁ%
KE —ﬁff’%‘i’f. »—3g 1, 200, 000 0 1,200, 000 0. 00%
EI_[F‘J\L;%
KE —#FIF*HQ: % 1, 200, 000 0 1,200, 000 0. 00%
KE —#FIF*HQ: » - 1, 200, 000 0 1,200, 000 0. 00%
Bk £
KE —#FIF*J%‘{’{ * R 1, 200, 000 0 1,200, 000 0. 00%
KE —#FIF*HQ: »—i% 1, 200, 000 0 1,200, 000 0. 00%
A2 B R L
KE AT~ 1, 200, 000 1,200, 000 0. 00%
e —FHART » 2,400, 000 2,400, 000 0. 00%
& AL
e AR T 2,400, 000 0 2,400, 000 0. 00%
+ F AR
FR-F A& 2,400, 000 2,400, 000 0. 00%
FR-R A& - 2,400, 000 2,400, 000 0. 00%
FR-R A& - 2,400, 000 0 2,400, 000 0. 00%
%3 L
FR-R A& - 2,400, 000 0 2,400, 000 0. 00%
# 44
F P -gE T 2,400, 000 2,400, 000 0. 00%
¥ B -BLE T~ -k 2,400, 000 2,400, 000 0. 00%
Ao
¥R -BRE T -k 2,400, 000 0 2,400, 000 0. 00%
g
BB - 2,400, 000 0 2,400, 000 0. 00%
AR
¥R -BRE T -7 2,400, 000 0 2,400, 000 0. 00%
1A
TR -BEE T - 2,400, 000 0 2,400, 000 0. 00%
g
¥R -BEE T A - 2,400, 000 0 2,400, 000 0. 00%
LE
T FE o EZE 48, 000, 000 0 48,000, 000 0. 00%
RN
HEpEAEEE) 0 0 0. 00%
R A A 0 0 0. 00%
[ W # ¢




AERE

et FEIE 4

114# B
hER L ER v G
5 B % g S &4F % wm
(D ) (3)=(1)-(2) (4)=(3)/(2)%100

¥EL A 0 0 0. 00%
¥ £ = G RIF 48, 000, 000 48, 000, 000 0. 00%
FERT
fsr g

#7240 6, 000, 000 0 6, 000, 000 0. 00%

kR 1,200, 000 0 1, 200, 000 0. 00%

SRR 600, 000 0 600, 000 0. 00%

= 600, 000 0 600, 000 0. 00%

& 600, 000 0 600, 000 0. 00%

P IL 600, 000 0 600, 000 0. 00%

509 % 600, 000 0 600, 000 0. 00%

%3 600, 000 0 600, 000 0. 00%

B4t 600, 000 0 600, 000 0. 00%

KT AR 600, 000 0 600, 000 0. 00%

G % 600, 000 0 600, 000 0. 00%
Y SR 12, 600, 000 0 12, 600, 000 0. 00%
SR B 12, 600, 000 0 12, 600, 000 0. 00%
¥ EEAGE) 35, 400, 000 0 35, 400, 000 0. 00%
fouwh o2 41 35, 400, 000 0 35, 400, 000 0. 00%
A E 35, 400, 000 0 35, 400, 000 0. 00%
B LA E
s E GEI) 0 0 0 0. 00%
AR R 35, 400, 000 0 35, 400, 000 0. 00%
S s €3




